
1.	Bez	Konstruieren	von	Dreiecken	 	 Lösungen	AB	2	
Mauro	Nogara	

1	

1.	Bez	 Konstruieren	von	Dreiecken	 Lösungen	AB	2	
	
	
18	 Konstruiere	das	Dreieck	mit	den	jeweiligen	Angaben.	
	 a)	 a	=	3cm	 b	=	5cm	 c	=	6cm	
	

	
	
	
	
	
	
	

KB:	 1.	 𝑐 → 𝐴, 𝐵	
	 2.	⊙ (𝐴, 𝑏)⋂⊙ (𝐵, 𝑎) → 𝐶	
	
	 	
	 b)	 a	=	2cm	 b	=	4cm	 c	=	7cm	 !	
	

	
	
	
	
	
	
	

KB:	 1.	 𝑐 → 𝐴, 𝐵	
	 2.	⊙ (𝐴, 𝑏)⋂ ⊙ (𝐵, 𝑎) → 𝑘𝑒𝑖𝑛	𝑆𝑐ℎ𝑛𝑖𝑡𝑡𝑝𝑢𝑛𝑘𝑡 → 𝑘𝑒𝑖𝑛	𝐷𝑟𝑒𝑖𝑒𝑐𝑘	
	
	 	
	 c)	 a	=	2cm	 b	=	4cm	 c	=	6cm	 !	
	

	
	
	
	
	
	
	

KB:	 1.	 𝑐 → 𝐴, 𝐵	
	 2.	⊙ (𝐴, 𝑏)⋂⊙ (𝐵, 𝑎) →→ 𝑘𝑒𝑖𝑛	𝑆𝑐ℎ𝑛𝑖𝑡𝑡𝑝𝑢𝑛𝑘𝑡 → 𝑘𝑒𝑖𝑛	𝐷𝑟𝑒𝑖𝑒𝑐𝑘	
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19	 Konstruiere	das	Dreieck	mit	den	jeweiligen	Angaben.	
	 a)	 a	=	4,2cm	 b	=	3,8cm	 γ	=	100°	

	
	
	
	
	
	
	

KB:	 1.	 𝛾 → 𝐶	
	 2.	⊙ (𝐶, 𝑏) → 𝐴	
	 3.	⊙ (𝐶, 𝑎) → 𝐵	
	
	 	
	 b)	 a	=	6cm	 c	=	5,2cm	 β	=	57°	
	

	
	
	
	
	
	
	

KB:	 1.	 𝛽	𝑖𝑛	𝐵	
	 2.	⊙ (𝐵, 𝑎) → 𝐶	
	 3.	⊙ (𝐵, 𝑐) → 𝐴	
	
	 	
20	 Konstruiere	das	Dreieck	mit	den	jeweiligen	Angaben.	
	 a)	 c	=	5,5cm	 α	=	61°	 β	=	33°	

	
	
	
	
	
	

KB:	 1.	 𝑐 → 𝐴, 𝐵	
	 2.	 𝛼	𝑖𝑛	𝐴	
	 3.	 𝛽	𝑖𝑛	𝐵 → 𝐶	
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20	 b)	 b	=	5,9cm	 α	=	34°	 γ	=	75°	
	
	
	
	
	
	

	
KB:	 1.	 𝑏	 → 𝐴, 𝐶	
	 2.	 𝛼	⋂	𝛾 → 𝐵	
	
	 	
21	 Es	handelt	sich	jeweils	um	ein	gleichschenkliges	Dreieck.	(Basis	c	und	Spitze	C)	
	 a)	 b	=	5,3cm	 γ	=	50°	

	
	
	
	
	
	

KB:	 1.	 𝛾	𝑖𝑛	𝐶	
	 2.	⊙ (𝐶, 𝑏) → 𝐴, 𝐵	
	
	
	 	
	 b)	 c	=	7,5cm	 β	=	41°	
	
	
	
	
	
	
	
	
	
	
KB:	 1.	 𝑐	 → 𝐴, 𝐵	
	 2.	 𝛼	𝑖𝑛	𝐴	
	 3.	 𝛽	𝑖𝑛	𝐵 → 𝐶	
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42	 Konstruiere	das	Dreieck	mit	den	jeweiligen	Angaben.	
	 a)	 c	=	5,6cm	 α	=	77°	 hc	=	4,5cm	
	
	
	
	
	
	
	
	
	
	
KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ! 	
	 2.	⊙ (𝐴, 𝑐) → 𝐵	
	 3.	 𝛼	𝑖𝑛	𝐴 → 𝐶	
	
	 	
	
43	 Konstruiere	jeweils	ein	Dreieck.	
	 a)	 b	=	4cm	 c	=	4,5cm	 hc	=	3,5cm	

	
	
	
	
	

KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ! 	
	 2.	⊙ (𝐴, 𝑐) → 𝐵	
	 3.	⊙ (𝐴, 𝑏) → 𝐶	
	
	 	
	 b)	 ha	=	4,2cm	 c	=	5cm	 a	=	3,6cm	

	
	
	
	
	
	

	
KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ"	
	 2.	⊙ (𝐵, 𝑐) → 𝐴	
	 3.	⊙ (𝐵, 𝑎) → 𝐶	
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	 c)	 hb	=	4,2cm	 a	=	4,4cm	 β	=	40°	
	
	
	
	
	
	

KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ#	
	 2.	⊙ (𝐶, 𝑎) → 𝐵	
	 3.	 𝛽	𝑖𝑛	𝐵 → 𝐴	
	
	 	
	 d)	 hc	=	3,8cm	 a	=	5,4cm	 b	=	4,5cm	

	
	
	
	
	
	

KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ! 	
	 2.	⊙ (𝐶, 𝑎) → 𝐵	
	 3.	⊙ (𝐶, 𝑏) → 𝐴	
	
	 	
	 e)	 hb	=	3,6cm	 c	=	3,8cm	 γ	=	50°	

	
	
	
	
	
	

	
KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ#	
	 2.	 𝛾	𝑖𝑛	𝐶 → 𝐵	
	 3.	⊙ (𝐵, 𝑐) → 𝐴	
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	 f)	 c	=	3,8cm	 ha	=	3cm	 γ	=	28°	
	
	
	
	
	
	

	
KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ"	
	 2.	 𝛾	𝑖𝑛	𝐶 → 𝐴	
	 3.	⊙ (𝐴, 𝑐) → 𝐵	
	
	
	 	
44	 Es	handelt	sich	jeweils	um	ein	gleichschenkliges	Dreieck.	(Basis	c	und	Spitze	C)	
	 a)	 hc	=	6,5cm	 a	=	7cm	

	
	
	
	
	
	

	
KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ! 	
	 2.	⊙ (𝐶, 𝑎) → 𝐴, 𝐵	
	
	
	
	 	
	 b)	 hb	=	2,8cm	 b	=	5cm	

	
	
	
	
	
	

	
KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ#	
	 2.	⊙ (𝐶, 𝑏) → 𝐴, 𝐵	
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	 c)	 ha	=	3,2cm	 b	=	3,5cm	
	
	
	
	
	
	

KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ"	
	 2.	⊙ (𝐶, 𝑏) → 𝐴, 𝐵	
	
	 	
	 d)	 hb	=	3,8cm	 c	=	5,5cm	

	
	
	
	
	
	

	
KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ#	
	 2.	⊙ (𝐵, 𝑐) → 𝐴	
	 3.	𝑚! → 𝐶	
	
	
	
	 	
45	 Konstruiere	ein	gleichseitiges	Dreick	mit	ha	=	3,5cm.	
	
	
	
	
	
	
	
	
	
	
	
KB:	 1.	𝐻öℎ𝑒𝑛𝑠𝑡𝑟𝑒𝑖𝑓𝑒𝑛	ℎ"	
	 2.	 𝛾	𝑖𝑛	𝐶 → 𝐴	
	 3.	 𝛼	𝑖𝑛	𝐴 → 𝐶	
	


